252 THE MODERN CHESS PRIMER.

If he played P——R35, White would gain the KBP
by 38. P—Bjs ch, and 39. R—KB».

White, Black.

b K5 P Xk
'39. R—Bs K—Q3
40, K %X P4{B3)" R—Ks5
41, P—Kts X -P

Suppose he played R X BP ch (which Joks
best), White would answer with 42. R—Bj3; this -
would force R X R ch; 43. KX R, P X P; and
White could then win in this way (which try to
follow out); 44. K—Kt4 ; Black’s only chance is
to push on one of his centre Ps by P—By4 ; White
takes the KtP, because (whether Black plays 45.
..+« P X P, or P—Bs) he will still be able to stop
Black’s P by hurrying back to it, capturing it, at
the worst, after it has queened ; while the Black K
cannot possibly stop both the RP and the KtP.
(‘Try this for yourself.) If he played 41. R X QP ;
42. P—Kt6 would make things very dangerous for
him,

22, ¥ X P o NP
43. R—K3, “drawing a line ” to prevent Black
K from crossing over to K side. Black dares not
offer to exchange Rs by R—Ks,
P—B4

If he now played R—KXKts, White would play
R-—KKt3; and if then the Black R withdrew, the
KtP would advance a square.

44. P—Kt6 R—QRs5
45. P—QR3 P—Qs5
40. R—KXKt3 R—QR sq

(‘The only move to stop the P.)
* ZIe. the P at Whites B3,
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\\’hite. 1‘;1,.1(_'_]{_
47. ¥—Kty R—KKt 5q

48. R—Ktg, to keep back the Black K ; if he
ncw tried to get m front of his Ps (by way of B3
and Ktg), White would stop him by P—R4.

P—Bsg
49. K—K2 K—K3
so. P—R4 K—B3
51. R—Kt3 K—B4 .

He dares not play R X P gg. R X R- K % R+
as ther RP would easily queen, while the White K
can stop the Black Ps.

52, P—Rs - K-—Bs
5§3. R—KB3 ch K—Kg
It he moved K—Kts; 54. R—By, defending

the P, and shutting off Black K.
54. R—B7 P—Q6 ch
55. K—Q2 K—Qs
56. R—Q#% ch K—B4

57. P—R6. Notice the masterly way in which
the Ps are quietly and safely advanced.

R—K sq

58. P—RY% K-—Kts
If .... R—K7% ch; 59. K—Q sq.
§9. R—QKt7 ch K—B4

6o. R—Kt8. Now the RP will queen, as is
easily seen.

R—K#% ch
61. K—Q sq P—B6
62. R—QB8 ch. It would not do to queen th=
P at once; else 62. . ..x P—B7 ch; 63. K—B sq,

R—K8 ch; 64. K—Ktz, P—BS8 bec Q ch: and
Black would win, Yet this is just what an ardent
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player might hastily fall into. When you are
winning, you are most liable to such mistakes.

White. Black.
K—(5

63. R—B4 ch, a splendid move.
K—K6

For if K X R, 64. P—Kt8 bec Q cH, and would
easily win.

64. P-—R8 bec Q P—B7% ch
O R P R—K38 ch
66. K X R Resigns

Black’s last move was mere desperation. One
of the finest games ever played—full of surprises,
and interesting to the very last.

2.

Taken from the “ Analysis” of Philidor, the
celebrated chess player and writer of last century.

Black.

White moves.
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White. Black.
1. P—R7 B

Why? Because if he played R—Kt sq (to capture
the P when it queened) White would answer by
R X P, and (as Black R cannot well take the R—
on account of P queening) White would, by R—Rz,
afterwards gain the other P.

2. R X P. Youmight be inclined to play K X

R, but it would lose the game, for Black would

reply P—R6, and one of the Ps would force its
way to queening, against the R.

R—KR2
3. P—Kty4 P—R6
4. R—KR2 K—Kt2

The Rs are both engaged, attacking and defending
the Black P ; checking 1s useless.

5. P—Ktsg K—Kt3

going down to drive away the White R, with
intention of forcing a way for his P to queen.

6. K—B6, to make way for the P.

K—Kt4
- . P—Kt6 K—Kts
8. P—Kty <3 i 1y

If he retreated the R to R sq, it would make no
difference ; he would in the end have to give 1t for
the P in the same way.

0. K X R K—Kt6

and White, wherever his R may go, will have to -

give it up in exchange for the P. The game is,
from the start, drawn—Dby good play.

H..._-h-..._..;q,._ W i e B i -
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3.

From a game won by H. E. Bird in the 1851

Lournament. We start with Black’s twenty-seventh

move. White has just played P—KR4, threatening

to play P—Rj5 and then to take the B, which
cannot move away,

After the game was over, it was found that
K—Kt2 would have been better. You will see
why after a few moves. But suppose Black tc
have done so, and that White then plays P—Rg5 to
capture the B, Black would bring his R to K4 and
(as the P cannot capture R without loss of Q) the
(Q must retire, whereupon R X RP, and being
three Ps ahead, with a safe position, Black would
easily win.
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White, Black.
28. P—R3 R—K4
29. B X P ch. This is what Black overlooked,
and 1s why K—Kt2 was better at his twenty-seventh
move.

nXEB

If he took with K, White would play 30. P X R
dis ch, and would win speedily. If K went to R
5q, 30. Q—B6 mate, If K went to Ktz, 30, P—_
Rs ch would lead to one of the two previous
variations, Of course, the Black B may not take,
as doing so would put his K into check.

30. Q—Q8 ch R—KB sq
31. Q X R. All this was planned before White
sacrificed his B.
S ¢ )
34, F xX R aigch K—Kt2

A mistake., He should have gone to K2, where

he would have more liberty, and might help to
defend the (Q side Ps.

% g o 2 X KP

It would be dangerous to let this P move on to
K6 ; as it would do, if K took P.

s F XD T

35. K—Ra2 P—Ks5s

36. R—R3 ch. This at least draws the game ;
for White, 1f he saw nothing better, could give
perpetual check by checking with this R alternately
on KR3 and KKt3, as Black would lose the
game 1f he gave up his Q to stop the checks (by
interposing her).

K—Kt3
37. R—Kt3 ch K—R2
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White, Black.
38. R—B#» ch K-—R3
39. R—B6 ch, These checks are not a waste of
time, K—R4

suppose Black had played K—Rz2 here, White
would have played R (B6)—Kt6 ; then R (Kt6)—
Kt4, and would then be able to checkmate (or gain

Q for R). Try for yourself how this is so, and
why K-—R4 obviates it.

40, R—B8 Q—Qs
41. R—KR8 ch 0
Black,

Position after
Black’s 41st
Move.,

42, R—KR3 ch K—Klts
Going to support his Pawn.

43. R X Q. The play of the Rs has been very
fine, and should be carefully studied. Try any

variations that may occur to you. Though White
has done well, the game is not yet won. |
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White., Black,
K SRR K-—Bs
44. R—K B8 ch K-—Ko6

45. K-—Kt3, The K must help the R ; but he
should go to Kt sq. His move delays the advance
of his KtP.

P-—B4-

46. R—QKt8, If the K were at Kt sq, the
KtP might have gone on safely—as it could not be
stopped ; while the R could always capture g
Black P that advanced to queen, ‘I'ry this for
yourself i different ways.

P-—Ktg
4%7. R—Kt6 P-—Bs
48, R X KF P—RB6
49. R—QDB6 K—Q~
50, K—B4 P—KO6

g1, R—Q6 ch. Here White might win by
R P KX R 53 K X P, k—Kt7; 53
P—Ktq, K X P; 54, P—Kts, &c.; for, if both
Ps go on, White queens with a check (Black P
being on Kt7), the rest bemg *“book-work™
(p. 88) ; but such things are easily overlooked.

- P K—K7%
52, P—Ktg K—BY
53, R—KR6 P—K7%
54. R—R2 ch K-—D8

You will now see the reason why White brought
his R round to the KR file ; he could not other-
wise have coped with both the advanced Black Ps.
(See p. o1 for a similar win, R. z. Kt.)

55. K—B3! Black may now take a Q or R or
B in exchange for his P—on penalty of being mated

by R—R sq. ' S 2
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White, Black. |
EE. P—K8 bec Kt ch |
50, K—K2 Kt—Kt7 ch ﬁ

His game is hopeless, but this move enables
White to finish it more speedily,

57. R X Kt, decisive ; saving time, The

shortest way of winning is the best,
KXxXR

58 P—Kts, White’'s Pawn goes tranquilly on,
while the Black Ps are easily stopped by the K ;
but if White had moved his K at 57, Black might
have prolonged the fight—though he could not
alter its issue, The loser, in this well-sustained
contest, was Horwitz, the composer of a celebrated

series of Knd-Games,
_ 4
Here Black wins by giving up his R for the B,
It 1s very doubtful if he would win in any other

Black moves,




END-GAMES WITII NOTES, 201

T

way, the White K and B being well placed for
stopping the Ps,

White., Blaclk,
¥ R X Bl
3. oNCR P—KO6 !

Plainly K must take this P at once, as if he went to
B3, the BP would advance one square to support its

i LT A RN T T N e I ks S e S, S . e o T LI -

fellow,
o X KP | *
4. K—K4 P—R4

Now the game is won, ‘T'he White K dares not
take the RP ; while the Black K easily captures
the isolated White Ps, and then comes down to
force a way for his own Pawns to their last rank,

R o

Blacl,

White moves,

.............. / L
....... - — P T R e

hie.
White has the move ; he can only win by queening
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the P. If Black had the move, as he could not
hope to win, he would draw by at once moving R
to R3 and taking P next move.

White, Black,
1. P—By R-—~Q B8
2. B—B6 R---(Q8 ch
3. K—K6 R-—K8 ch

4. K—B7, not to B6, else Black would draw
by R—K sq; for if the B took R, the Black K
would move to Ktz and afterwards take the P,

7 S R-~~KB8 ch

5. K—Kt7 R—KKt8 ch

6. K—R#% and wins, as the R cannot check
again without being lost, and there is no way to
prevent the P queening.

White moves,

Black, without the move, wins

- N Tl e e T T & A R T e
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White. Black.

1. R—R7% K—B4
threatening 2..... R—QKt8 ch, and 3.....
P = Q.

2, K—B% K—Q4

2. Kol K-—K4

4. K—K7 K—B4

g, K—DB% K—Kts

6. R—Kt7 ch (a) K-—B6 n

7. R—R7 R—KDB3

threatening . . . . K—K7 dis ch and then to queen
the P,

LG ) K-—Kt6 dis ch

The White R is now lost, and the game.

(¢) It might seem as if 6. K—Kt8 was better;
but then Black would play 6. . ... K-—Kt6
(threatening . . . . R—KKt3); suppose 7. R-—
KKt7 ch, K—Bjs; 8. R—KDb7 ch, K—K4; o.
R—K2 ch, K—Q3; if now 10. R—KKt7, R—
KKt8 pins the White R; if 1o. R—KR7, R—
KKt8 ch, easily winning in either case.

(A composition by M. Troitzky, from “ La
Stratégie.”)

7o
A win by Deschapelles (mentioned on page 22).

His opponent was playing with eight extra Ps

instead of a Q.
1. Kt X B¢l P xRt (a)

2. Q—R8 ch! K xO0
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Black.
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. mh%%m%m
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or

0.

P—Kt4; 5. Q—B7, and mates
From the same source. The authors say, *“The

() are in the finest style of play, and

(@) 0 A sie

next move,
a single false check would lead to a drawn

moves of the
perhaps lost, game,”
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Black moves,

Black with move wins, Evidently he must move
the K, It looks as if . . . . K—Kt sq, and come
down the R file to the Ps, would do,  But it only
draws: 1..... K—=Ktsq; 2. R—R8 ch, K—Rz2;
3. R—R7 c¢h, K—R3; 4. R—KRS, K—R4; 5.
K-—Bg (threatening to mate with R) and Black can o
do nothing. The right way is 1..... K—Q sq!
2, K—Q06, K—K 8q; 3. .K,jwl(é, K—B 8q; 4.
K—B6, K—Kt 8q; the winning move, for White
has nothing better than 5. R—QKt7, to which
Black answers , ... R—R8; then 6. R—Kt8 ch,
K—Rz2; 7 R—Kt7 ch, _KT-R3; 8, R—Kt8,
r R-—KB8 ch; winning easily, after queening
, the P, _ 5

Bl e MRS T oy P SR T N g Nt R T | b
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Black or White
mov es,

A Bishop often draws against R and P, if the
Bp's K. is favourably placed, and the P on any
file other than a Kt's. In the position given, the
game 1s drawn, either having the move. Black
must play his B, so as to prevent White K resting
at K6 or Kt6., Suppose White to begin with 1.
P—B%, Black must not play B X P (else 2. K—B6
wins, after 2,.... B—R4; 3. R—R8 ch, B—K
sq; 4. R—Kt8, K—Kt sq); but K—Ktz2, and
afterwards take the P.

If 1. R—R4, B—B8 would los2 by 2. R—KBj4,
B—Q6; 3. P—B%7 (White K soon getting to
KB6, or KKt%); Black must play 1..... B—Q0,

and dodge the R,
Now shift each man on diagram one file to the
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right, and White wins thus; 1, P—Kt7, K-—R2
(best), (iIf B X P; 2, K-—Kt6 wins, as shown) ; 2,
R—KB7, B X P(a); 3. K—Ktg, K—-R 8q; 4.
K—Kt6 ‘wins; or (@) 2..... B—B6; 3. P bec
Qch, K X Q; 4. K—Kt6 wins, for if (¢g.)....
B—Qs5, 5. R—Q% wins the B or mates, (WALKER.)

12,

White moves.

White,
This is a rare case, in which B and P can only
draw against two Ps.

White. Black.
1, K—Kt2 K—K4
(If 1..... K—Kt4; 2. K—R3])
2. K—R3 K—Qs
3. P—DBg4 K—Ko6

(If 3. ... «BREL& £ XD Giawve; 62 4
... K—Kg; 5 K=—Kts, K’ X P; 0 h—Ds,
¢f. Chap. VIIL. § 4.)

¥ =i iy



270 THE MODERN CHIESS PRIMER,

White, Black,
4. P-—-Ktg, drawing by securing the Black P,
Were the KtP shifted to K3, Black would win
casily, ¢ i—

1, K—K2 K—K3
2, K—Q3 B—B2 ‘
If Black incautiously played 2..... K~-()4,
White would draw by 3. P——K4 ch.
3. K—K2 K—Q3
4. K—03 K—B4 !
5, K—B3 B—R4 ch

and soon wins, by pushing the White K away from
the Pawns, (WALKER.)

White moves,

From a correspondence game won by Alapin ; a
good specimen of forcing P to Q hy a sacrifice,
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White, Black.
1. B—Ktg, taking advantage of the good
position of his advanced KBP, (If....B X B;
2. R—B8, mate.)

A Kt—DB3

2. R—XK sq, to control the open K file.
- AR R-—R sq
8.5 5% Kt B 36

meaning to return with B to Qz, but White pre-
vents 1t.

3 R B i 9

5. P—Q7 R—Q) sq

6. B—QO6 ch! K—Kt sq

n. R—K#%. If he here played R—K8 ch,
Black would reply by .... K—Rz2, and White
could not afford to change Rs,

R P—Kt4

If he played . ... R—R sq, then 8, R—K3 ch,
K—R2;: 0. RX R (QR8), R X R; 10, B—DB7,
and Black must give up the R for the P (the same,
L A R—KB sq).

8, K—Bz2, bringing up all his forces to the
scene of action. Black cannot improve his position.

PR U K—R2
9. K—B3 K—Kt3
10. K—B4 X ¥
11. K—Bg P—R4
12 0% XX Resigns

Such a sacrifice as that of his K side Ps 1s his
only way to stave off 13. P—Ktg, P X P’; 14. i 2
and this P simply goes on to Kt8 bec Q ; then . . ..
RxQ; Bx R, Rx B; R—K8 wins easlly.
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White moves,

White with move wins by a most instructive
process, White = ], H, Blackburne,

White. Black,

1. Q—KS8 ch K--R2

2, O R Tl

KNy K—-Kt2
T'o advance the P, is simply to lose i,

4. K—B4 K-—B sq

5, K—Bs5 K-—B2

6. P—R3! KKtz
If6, ..., K—=Qz; then 7. K—Kt6. f

v, K—=QO6 P—B4

8§ KXY K-—B2

9. P——Rg4. Here is seen the effect of White's
sixth move. He has now a “reserve move” ; a
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sort of waiting-move, by which he forces Black to
give up “the opposition.” Deduce that, in End-
ings, an unmoved P is often an advantage, from its
power of moving one or two squares at choice,

White. Black,
AL K-—Kt2
10, K—Q06 K—Kt sq

11, K-—K7, and after the exchanges White
will queen his KRP, and control the Black QRS.
If Black's QKtP could once get to its third square,
his K and R might support each other against the
() ; and the advanced BP might be held 5 hence
White's second move, separating the Ps—the only
way to win,

15,

White moves,

From a game won by Philidor (Walker's “ Chess

Studies,” No, 252). .
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White, ; Black.
1. Kt—Kt6, good, on principle, to plant a
Kt among the enemy. Here, it prevents .... QX
BP, by threat 2. Kt—K?#% ch.

| P R-—K sq
2, Q—Kg5 ! (e 0
o, o R X O2then 3. R—B8 ¢ch R-K

B 4R SCR ehy O —Boaies & By () ¢h,
K—R2; 6. R—R8 mate.

2. B X ), getting 3 passed: P,

oo W Kt—B3
4. K—B4 K—B2
5. R—Q sq Eth
6. P—KR4 R—Q sq
7. K—K4 P—Ktyg
8. P—Rs5s P—R4
9. R—QB sq P—Q6

thinking White cannot take the Kt, on account of
the Pawn queening—but White has allowed for

this !

10, R X Bt P—Q7

11. R—B7 ch K—Kt sq
12. P—B6, threatening R X P mate.
i Jr P. ¥

13 Pl R—Qg5 ch

14. K—Kg, he must not take the R on
account of . ... P = Q ch; Black tries to draw
by perpetual check ; but White amusingly frustrates

this.

|, s 1 R—Q4 ch
15. K—B4 R—Qs5 ch
16, K—Kt3 R—XKtj5 ch |
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White.
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White. Black.
4. K—B3 R (R7)—B% ch
5. K—K4 P—Kt3
To avoid 6. P—Kt6 ch, and 7. R—KRS8 mate.
6. R—B7 ch K—Kt sq
7. K—K3, they want to bring the K to the
front, before Black can ‘stop it by . ... R—Ba.
« R SISEL R—B4 ch
3. K—B6 RKXPch
g K X P R—B sq

10. R—Kt7 ch, not K X P, else the distant
Black R would get command of KR file after
checking. White must give the adverse Rs no inlet.

RO . K—R sq

11. K—R®6, to prevent Black forcing exchange
of Rs by . .«. R—KKt sq.

& B—Kts

12, R—K6, threatens 13. R—R7 ch, and
14. R—Kt6 mate.

4 S R—B4

13. R—R7 ch,not 13. R(K6)—Kt6, because
of .... B—B sq, pinning a Rook.

7 St K—Kt sq
14. R—Kt6 ch K—B sq
I, R X BY R—B4

10. R—B6 ch, they must not exchange, as

Black might then be too strong.
0. K—K sq

If.... K—Ktsq; 17. R—KKt7 ch, and 18.
R-—B38 mate. ;
17. P—Kt6 ~ R—B6
18. P—Kt4, to keep Black Rs from getting

command of KKt file, If 18, %31 X &: 10
P—Kty, &c.

-.‘
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White. Black.
S AR B—B sq ch
10, R X B ch A
20. P—Kt7 ch K—B2
21. R—R38 R—B3 ch

22. K—RY7, and Black resign ; because, if 22.
. . . « R—Kt3; White play 23. R—KB8 ch, and
24. K X R, easily winning.

1Y. :

A useful Ending (by Ponziani). White K at
£)3. R at OB sq, P at KR4; Black K'at QKty,
¥ at ORy KKt3, KR4,

e with move, draw; 1. ....2=01l 2
R X Q, K X R; and when the White K takes RP,
Black K (which has followed him) will occupy
Black’s KB3 and draw (Chap. VIIL. § 7). White,
with move, win by 1. R—QR sq! K X R; 2.
K—Bz2, forcing the KtP to advance ; and the White
Q will give mate, from KKt7, just after Black

queens his RP.
138.

From actual play ; White K at KBz, Q at KB6,
X al ka2 'Btat KBe, Ps at- KB3, KKt4, KRz
Black K at KR2, Q at Q4, R at Q2, Kt at KKt3,
Ps at KR3, KKt4. _

White move and win; 1. R—K7 ch, R X R (if
Y. EEx R o (O RPch &c.)s 2. O X Kieh,
K % Q; 3. Kt X R ch, easilywinning.  If 2.....
K—R sq; (not 3 Kt X R, or Black Q will check
at Q7 and draw, but) 3. Q X RP ch, R—KRz2;
4. Q-—B8 ch, Q—Kt sq; 5. Q—B6 ch, R—Kt2;
6. O X Roch, O30z o B CL K X Kt: 8. 1
—XK 3, easily winning.



( 278 )

CHAPTER XIII.
PROBLEMS.

A cHEss problem is an idea, or combination of
ideas, resulting in a checkmate in a fixed number
of moves, this idea being expressed upon the board
and mrru,d out 1n agreement with certain conven-
tional principles.

The restrictions under which the problem
composer works are about as follows ;—

T'he position with which he starts must be the
possible (if not the probable) result of a game
played by rule. Thus, a position with White Ps at
QRz2, QR3, and 'QKtz, 1s inadmissible ; the P at
(QR3 could not have got there by any legal
move.

‘There must be only one first move leading to
mate in the given number ‘of moves. If the
problem can be solved by more than one first
move (or in a less number of moves th;tn that
announced) it is worthless.

The first move (or “key”) should be one of the
least obvious moves on the board, giving the
enemy’s K and other forces greater apparent
freedom, sacrificing or blocking a White piece or

removing it to some square where it seems useless.

‘Thus, such aggressive moves as a check or a

il il
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capture of a man are not, as a rule, considered
good keys. '

There must be no useless man in the position—
that 15, no man not required for the mate, unless
that man 1s needed to prevent either a second
solution or a “dual” in the after-play of White
(who always has the first move).

There must not be for either player a second Q,
or two Bps of one colour, or the like, in the
original position, on pretence of such man being
the result of a promoted Pawn.

Neither K must be in check at starting.

Castling, or (as White’s first move) taking a
Pawn in passing, is inadmissible. ILooking at the
position as a possible result of an actual game, the
solver could not know whether K or R had not
previously moved. An adjudicator, in actual play,
if he detected a forced win by castling, could not
give it as a won game, unless he assured himself by

Inquiry that castling was legally admissible. It 1s

possible so to arrange the Black men that it could
be proved that at Black’s last move a Pawn was so
played that White may now take it in passing ; but
such a key move (demanding a curious inquiry
beneath the surface) is only fitted for a position
marked “ Puzzle” or “ Christmas chess.”

The following features detract more or less from
the excellence of a problem as a work of art :—

(1) Duals (i.e choice of moves for White) ; In
a three-move problem a “dual continuation”
(choice of moves in reply to one of Black’s first
moves) is a greater blemish than a dual mate (in
which White can mate by more than by one man

or by one man on more than one square).
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(2) Impurity of mate ; when any square round
the Black K is, at the mate, governed by more than
one White man, or is both governed by a White
man and occupied by a Black one.

Conditional problems are those in which mate is
given under certain announced restrictions.

Sul-mate (suicidal) problems are thase in which
White, instead of trying to mate Black, compels
him to mate White, Black’s only thought being
how to avoid giving this mate. Many solvers find
such problems much more difficult than the ordinary
problem—there being a natural abhorrence from
suicide,

We give a few specimens in each kind, that the
reacder may form some opinion of the skill, depth,
and elegance shown in these works of art. As
regards their practical use—i.e. whether the study
of problems tends to improve your actual play over
the board or not—there may be a difference of
opmion. Generally speaking, the problem would
never occur 1 actual play-—that is, the loser would
have resigned long before such a position was
reached. And, no doubt, the study of end-games
“(compositions, or from actual play) is more profit-
able to. the player. Still, the ideas underlying
problems may, remaining in the mind, find from
time to time a possible expression in real play.
Problems teach us at least to calculate and to
combine. No one, however utilitarian his thoughts,
can fail to admire the profundity and skill shown
In our specimens,
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No, 17,
By L., DOSSENA,

-

White to mate
in three Moves,

PROBLEMS IN THREE MOVES.
Black

White to mate
in three Moves.
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CONDITIONAL PROBLEMS.
. Black,

K

No, 23,

By M,
GROSDEMANGE,
White to play

and force gelf * s
mate in six Moves, @
on condition that e

Black promotes
his Pawn to
Bishop.,

No. 26.
By W. BONE,

White, without
faking any man,
mate with the
Pawn in twelve
Moves,
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PicTURE PROBLEM.
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SOLUTIONS TO PROBLEMS.*

. Kt—Q7.
. Q—R sq.
2) o KRG,
4) 1. Q—Kt7.

(5) 1. P—B6.

(6) 1. R—R6. The problem 1s a perfect
““wailting-move ” one, in which the first move has
no other use except that it only does not interfere
with the mates arranged to meet Black’s first
moves. If, e.o. 1. K—Kt2, Black answers Q—K4 !
(pinning a Kt).

(7) 1. Q—KKt7, X—B3; 2. P—Bg
K—Q3; 2. Kt—Ktg ch
K—Kt3; 2. Kt—Kts
K > P2, 0—04ch,

(8) 1. R—(QB8, B—B6; 2. R X P ch
P—Bs |
solal >R

b

AN TN N N
|\

- -

P XE

P—Q3; 2. Kt—R¥

Kt—B sqg; 2. R X Kt

Kt—Ktg; 2. P X Kt

R along rank; 2. R—K sq
ch

R along file: 2. Kt X B mate

OB moves; 2. P—DB4 anate.

(9) 1. R—R38, :° R{(Rg) moves; 2. P—03 ch

Kt x R; 2. R—K3

P—Kt4; 2. Kt mates

otheistyiz:. Kt ¢ P «ch; or
Kt—Ktsg ch.

* The reader is left to discover the actual mating-moves.
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(12) 1. R—QBS,

(13) 1. R—By,

(14) 1. B—R6,

(15) L. O=—Rz2,

(I 6) I, Q_QBS:

K—Q6; 2. R—R Sq

() B0 Q—K sq ch
P—B8 bec Kt; 2. B x Kt
K—B4; 2. Q—Q4
Kt—B6; 2. Q—R sq ch
Kt—Qs5; 2. B mates
P—B4; 2. Kt mates
P—Q4; 2. Kt—Q6 ch
others ; 2, Kt X OP ch,

Px Q; 2 R—B3
KX Kz OxPeh
K—K6; 2. Q—Ktz
P—Kt7; 2. R—B4 ch
gtherg: 2. ) % P ch.

Kt 03 2, Kt 0>

K % Kt; 2. O—By ch
K—Q5; 2. R—B4 ch
KbaDa: 2. QO x P

Kt—B :

KtP mgves} [, Ach
others; 2, O—Bs.
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(x7) 1. Q—B8, K—0Q23 2.0 X Ktch
K—Q4; 2. Kt—B3 ch
Kt—Bs ; 2. Kt—Q4 ch
Kt (R4) other; 2.0 X F ¢it
P moves; 2. Q—Q6 ch
Kt (K sq) moves ; 2. (Q mates.

(18) 1. Kt—Q8, K X P; 2. Kt—Ko6
K % B; 2. Kt—K#% ch
P—R5 ; 2. Kt—B7 ch.

(19) 1. B-—R8, P moves; 2. Kt (Q3)—Bs, P
moves ; 3. Kt—Kt7.

(zo) 1. Q X KPch, K X Q; 2. Kt—Q6 ch, K X
Kt; 3. P—B4ch.
(21) 1. Kt—R4, K—Q4; 2. R—QKt sq
s il e }; 2. Kt—Kt6

K—K3

P as Kt*——-K5}; S S

Oc s b K—B5 Kt6 ch
| | e others ; 3. Kt—B3 ch.

¥ PxP: 2 Kt (Kt3)—Bsch, &c.
¢ e K 2, Kt—04 ch, &C,
1. . ... other; 2. Kt—Q4 ch, K—Q4; 3. R—
Bs ch

(22) 1. R—Kt sq, P—Q6; 2. B—Rsq, P-—K4;
3. R—Kt2. Or 1..... P—K4; 2. B—Q3, P—

06: 3 B—kio,
(23) I. B——QKt‘], Q———Kt4 (OI‘ Rg,); 2 R—-—-—Qz
ch.K % R;3.Q—Kaeh
Kt—B6; 2. R—Q4 ch, K X
R: 3. Q—K4ch
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B—B2; 2. Q—B4ch, B X ()
3. B—K4 ch
Q—R sq; 2. B—K4 ch, P or

Db, 3. O0OxRor0
ch

Kt—Kt3 (or B2); 2. Q—Kt3
ch, Kt—B6; 3. Kt—Kg5

ch
B—Kt3; 2. B—K4 ch, P X
B2 0 Poeh

others; 2. B—R6 ch, Q X B

(or O~—Ktx): 2. O—K4
ch.,

(24) 1. K—Kt3, B—Kt2; 2. Q—KKt8, B—Bsq
(or R3); 3. Q—KR8 ch, B—Ktz; 4. K—Kt2,
B X Q; 5. K—R sq, B—Ktz ; 6. R—B7 ch. (If
dy S B—R sq; 3. K—Kt2, B—Kt2; 4. Q—
KR8, &c.)

(25) 1. Kt (Q7)—B8, P—Kt3 (@); 2. B—RG6,
P—Ktgq; 3. Kt—B7, P—Kts; 4. Kt—K38, P—
Kt6; 5. B—B4, P—Kt7; 6. B—Kt8; (@) 1. . ...
P—Kt4; 2. B—R2, P—Ktg; 3. P—Kt8 bec B,
P—Kt6; 4. B—Ktz, P X B; 5. K—R8, P—R3
bec B; 6. P—Ry.

(26) 1. Kt (B2)—R3 ch, K—Kt5; 2. Kt—B3,
K—Kt6; 3. K—Kt6, K—Kt5; 4. R—R sq, K—
Kt6; 5. R—QKtsq, K—Kt5; 6. R—KR sq, k—
Kt6; 7. R—R2, K—Kts; 8. Kt—B2 ch, K—
Kt6 ; 9. Kt—R sq ch, K—Kt5; 10. R—R4, P—
—R6: 11. Kt—R2 ¢h, K—Rj5; 12. P—Kkt3
mate.

(27) 1. Q—B8; P X ;R; 2. Kt—Q7 ch, B X Kt;
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3. Kt—B3 ch, K—K3; 4. B—Q6, B X Q; 5. Kt
-—Q4 ch, K—Q2; 6. P—Ks5, B X P; 7..P—B6
ch. B % Pz 8. B X b mate,

(28) 1. K—Kt7, K X P; 2. B—K7 ch, K—B5 ;
2 B % P, K x Kt 4 B-Kt3 mate,

SOLUTION TO FRONTISPIECE.

1. B—Q8, 0> B 2. R—B3

K X R; 2. P—Q4 ch

ForEE X3 R

o PO }, 2. B—Rj5 ch
O X R; 2. B—Rj5 mate
otherii2; "R M Bch,

e

Two celebrated problems are the following :—

A. (Forsyth notation, page 28.) The Indian,
published in 1845 : By B rAp RS Fa
IPI/IP3kt2/P4PBI/K2R4/.
White to mate in three moves.

Solution, 1. B—QB sq, P—Kt5; 2. R—Qz,
K—Bs ; 3. R—Q4, mate.

5. The Bristol problem, by F. Healey, 18601.
O/Ikt3KTp1/IKT4QI/1ka4/
p1p2p2/PIP2R2/3P2PK/B2R4.
White to mate In three moves.

Solution, 1. R—R sq, B—Qz2; 2. Q—Kt sq,
B—Kt4 ; Q—Kt sq, mate.

L
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CHAPTER XIV.
EARLY CHEss,

THE royal game, like other matters, has gone
through a process of evolution, Its first origin is
lost in the depths of antiquity, All the evidence
points to its invention in India. The history of
the game falls naturally into three periods ;—(i,)
ancient, up to A.b, o0 ; (ii,) mediaval, A,p, 5oo-
1500 ; (liL.) modern, With the first two of these
we propose to deal briefly, referring those who
desire to enter into greater detail to a standard
work on the subject (Forbes’ ¢ History of Chess,”
London, 1860),

THE PRIMZEVAL GGAME,

The primaeval game (“ Chaturanga” = « quadri-
partite” ; “chatur” = “quattuor ”) represented an
image of ancient Hindu warfare, The board, then
as now, consisted of sixty-four squares, The game
was played by four persons, each having a King, a
Rook, a Knight, a Bishop, and four Pawns (Rook,
“roka” = ship or boat, necessary to military
forces operating in the well-watered plains of the
Panjab ; the Bishop was originally an lephant),

The annexed diagram shows the arrangement of
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the forces; the two diagonally opposite players
were partners against the other two ; and the moves
were decided by the throws of an oblong die
marked on four faces with the numbers 2, 3, 4, 5.
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The King, Rook, Knight, and Pawns had exactly
the same moves and powers as they have now,
except that the Pawn could move only one square
at starting, ‘T'he Bishop moves diagonally to any
third square, but has no power over the square
next to him, nor are his movements impeded by
any piece placed on that square, It will be seen
that the four Bishops can neither support nor attack
one another. In throwing the die, if the number §
turned up, the King or a Pawn must move ; if 4, the
Rook ; if 3, the Kt; and if 2, the Bishop, It will
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be obvious that the game thus played is well
adapted for a social, family, game, being a happy
mixture, ltke whist or backgammon, of skill and
chance. Some of the rules are difficult to explain
shortly ; the main principles of the game are :—
(1) to bring the two centre Pawns to the opposite
side of the board for promotion to the rank of
Knight or Rook respectively (but the outlying
Pawns cannot be promoted); (ii.) to occupy with
your King the square of your allied King—your
ally then gives up to you the command of the
whole forces, with its advantage of entire unity of
action ; (111.) to capture the two hostile Kings, thus
winning the game. Apparently the Bishops and
Pawns mutually capture each other, but may not
capture a superior piece. The Rooks, Kings, and
Knights can capture each other as well as the
minor pieces. Another curious detail is that if
three Bishops happen to occupy contiguous squares,
thus :—

the remaining Bishop (the Red one) by taking the
fourth square, may destroy the two hostile Bishops
and apply that of his ally to his own use. Some
questions arise as to which the answer can be only
conjectural ; e.g. if a player has at his first move
advanced the Rook’s Pawn, and on his second
move turns up the number 2, the Bishop ought to
move ; but its path is now blocked by the Rook’s
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Pawn. Was the throw forfeited (as in backgammon
when you cannot “ come in ”’) or was some alterna-
tive move allowed ?

THE MEDIEVAL GAME (SHATRANJ).

In- this stage of the game, as brought about
before the sixth century of our era, the four players
are diminished to two, and the arrangement of the
men 1s the same as in the modern game ; the Rook
and Bishop have changed places, the Bishop thus
gaining at once command over a second square.
One of the allied Kings is reduced to a subordinate
position and 1s called “ Mantri” or * Farzin”
(= monitor or counsellor), being shorn of half his
power, and occupying the place of our Queen,
but governing only the adjacent squares on the
diagonal lines. The use of dice is entirely dropped.
Castling does not exist.

The game would begin, as with us, by moving
the King’s or Queen’s Pawn ; but only one square
forward. The King, Rook, and Knight moved
exactly as they did in the earlier game, and as they
still move, It will be noticed, from the nature of
the Farzin’s (= Queen) move, that the two Queens
could never encounter one another. The Elephant
(= Fil = Bishop), commanding only the square
next but one to him diagonally, could be placed
on only seven squares of the board beside that on
which he stood at the first. Hence a Bishop
could never encounter an adverse Bishop even
when running on the same colour. It also follows
that there are thirty-two squares which no Bishop
could reach. A Pawn reaching the opposite
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extremity of the board attained the rank of Farzin
only, thenceforth moving diagonally one square.

No game in this stage of chess has come down
to us; but we have a number of end-games from
actual play or composed as problems. We propose
to give one or two of these as specimens of ancient
skill and as illustrative of the moves of the pieces.
1he following is by Ali Shatranji.

White to play
and mate in eight

Moves.
The solution is
White. Black.
1. P—Qs ch 1. K—K4
2. R—K7 ch 2. K—Bs (or a)
3. R—K4 ch 3. K—Kt4

* His Bishop's fourth is commanded by the White Bishop,
which checks over or through an intervening piece,
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White. Black,
4. R—Kt4 ch 4. K—Ry4
5. R—Kt7 5. P—KBg *
0B WP 6. K—Rg5
7. Q—Kitg f 7. any
8. P—Kt3 mate,
1.1 [ 2, K—Qs
3. R—K4 ch 3. K—Bg4
4. P—Kt4 ch 4. K—Kt3

5. P—Bs mate.}

Our next position is well known in the East as
Dilaram’s Mate. Two Persian princes had engaged
In such deep play that the whole fortune of the
White player was lost; in desperation he at last
offered his favourite wife, Dilaram, as his stake.
At the stage shown in diagram, Black has a mate
on the move, and White could not see his way out
of it. But the lady who was anxiously watching
the game from behind the screen—a breach of
propriety to show herself before the company-—here
Interposed in a voice of despair—

““O prince, sacrifice your two Rooks and save
Dilaram ; forward with your Bishop and Pawn, and
with the Knight give checkmate.”

It 1s certainly a pretty problem and may serve
to show the fallacy of the (unhappily too common)
1dea that chess is not a lady’s game. Experience
shows that when ladies can be induced to believe
that chess really is within their capacities, they

very well hold their own at the game,

* Necessary ; otherwise, mate by 6. Q—Kt4 ch, 7. P—Kt3

t This does not check the King.
I Neither the Queen nor the Bishop can take the Pawn.
X
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Black.

3 B

6

White to play
and mate 1n six
Moves
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SOLUTION.
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X
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White.

R—R8 ch
B—KBg dis ch *

). Kt—R6 mate.

P—Kt7 ch

R—R8 ch
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* Vaulting over the Knight,
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difficult to show that the custom of the ancients, in
this last respect, was not, in the nature of things, at
least as reasonable as our own. With reference
to the second class of win, the limited powers of
the Queen and Bishop, and the Pawn’s limit of
promotion (simply to Queen), must be remembered.
Had victory depended only on a checkmate, wins
would have been comparatively rare.

Games were drawn by perpetual check or by
repetition of moves. We give a specimen of a ,
drawn game :—

Black.

BB

5

. TR

.__h ,,

i

_

\
\

\

S

TN
Ve

White to Move;
Black draws,

e L

|

White.
SOLUTION. e
White. Black.
1. Kt—Ktsg ch 1, K—B7 :
2. Kt—K4 ch A8 XD

* If K return to B6, then draw by perpetual check ; if K

to any other, White K can take R. o
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White, Black,
3. Q—Kach 2. R X D(ora
4. Kt X Q ch 4. K any
AL X' B, Nt
6. K X P'draw.
\(7) e VR . 2 165 (2
4. B R 4. ) moves

R X P draw.

Lastly we give a clever end-game, in which King
and Rook win against King and Knight. Place
White K at QR7, Kt at QKt7; Black K at QBg3,
R at KR sq. Black wins thus, without the move :—

1, Kt—Rg ch 1. K—Kt4
2, Kt—Kt7 (best) 2. R—KKt sq
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